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254 18=13
—3-17 = —20
—3—(-8)=5
—22422=0
~10+3=—7

—-128+3=-9,8

20+ 0,76 =20,76

-12-12=-2,4

-6+ 0,2 =-5,8
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BuKkoHaunTe yCcHo:

-12,3-(-28) =-95
=39 =12
1 1
Ll
5 6 — 30
92+89 _ga,
8,06 + 3,4
=12,46
0,4+ 1,8
=2,2
2 2\ =215
315—(4=—3= '
(+5-33)



Po3B'aXITb PIBHAHHSA

e x—2,8=-3 —
s x—3,7—2,5
x;_ ?:;;’8 x=25+3,7
— X=6,2
7_x:_9’7 6,15_x=_2)4
x=16.7 X =855
1
o —x= i *=8
2 _1_16 1 ‘
XT3 % x_Z_
1 3
X == x=-—-7—
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3HaUTKU BIANOBIOHICTb

7. =20+ 30+ 10
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s 16 2
1 7 1
_2_ 3_
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2L _13
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1,4 10 5

. —19-11-(-32,5)



Homy OOpIBHIOE PI3HULA

BUPa3IB:
*—6+a+b l —3+b+a
-—%——a+c i —(—a)+c—6
« —2+b—c [ —c+b+3
1
~ —6+a+b atc—5  —2+b-c
—3+a+b  —(—a)+c—6 3+b—c



BukoHanTte Han3py4HiWnm

crnocobom:
+.7,7+1,28+3,3—-2,78+2=(7,7+3,3)+
+(1,28—2,78)+2 =11+ (-1,5)+2= 11,5

2. 3,8+9,25—3—0,8—i= (3,8 —0,8) +
+(925-7)-3=09
4

3.7,8+2+3,2—2f--(—§ = (7.8+3,2) +2+
.

(—2§+(—§)) 114232 10




CnpocTnTn BUpa3 Ta 3HanTu Noro
3HAYEeHHS

e 25 —-37 44— b+ 23 + (=0) +2
AkKwoa =7,893 b =3
25—35—h+23=—-10+23—h =

4
¢ 78,8+/X+2,137X+C—E
Akwoa =7,283 b =-0,13

788—-08+213+c=78+2,13+c=
= 380,13 - 0,13 = 80



3HanAiTb KOPEHI PIBHAHHS

—2,4+ |x| =3
|x| = 5,4
x =54 abox = —5,4

Ix+ 5| =-7
HeMa€ pO3BA3KIB

Ix+5|=7

x+5=7a060 x+5=-7
XxX=2 abo x=-—12

3+|x—2|=8
lx — 2| =5

x—2=5abox —2=-5
x=7 abo x=-3

1

1
il =3

1

|x|=—z

HeMa€E pO3BA3KIB

+x|-025=1

2+ x|=125

%+x= 1,25 abo %+x: —1,25
x =0,75 abo x = —1,75



17 + x| — 3| = 10

Hx+3|—7‘ =8



